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Economics Unit 3: 
Macroeconomic 
Challenges
Exam Date: Friday, April 22nd

Name ________________________________________________  Hour ________________
Measuring the Health of the Economy…Normal Economy Notes

I.  Three characteristics of a normal, healthy economy:

A.  _____________________ Most people have a _____________

B.  ________________________

	- __________________ are not going up too quickly

C. _________________________

	- We are making ____________________________________ not less.  

D.  As we shall see, each characteristic is measured with a different ________________________ 

II.  1st Characteristic: Full Employment

A.  __________________________________
	- Most people who want a job have a job 

B.  Economic Indicator:   ________________________________________ 
	1.  The percentage of individuals 16 years old or older who want a job but do not have a 	job.
		a. Full Unemployment:  
- Unemployment rate of ____________________________
b. High Unemployment:  
- Unemployment rate ____________________________

C. Full Employment:  A healthy unemployment Rate of ____________________________








II.  2nd Characteristic: Low Inflation

A.  Inflation:  _____________________________________________________________________________ (although prices for a few things may be going down)
B.  Economic Indicator for inflation:

	___________________________________________ – How quickly prices are rising every year.
	1.  Low (Normal) inflation:  
- An inflation rate of _________________________________
- If something that cost $1.00 last year now costs $1.03 or $1.04, that’s ok.
2.  High Inflation:  
	- An inflation rate greater than _____________________________________
- If something cost $1.00 last year and now it costs $1.10, prices are rising too quickly. 
C.  How do we know what the inflation rate is?
- We look at something called _________________________________________________________
	1.  It is the average price of about _______________commonly purchased goods and services.
2.  If the CPI goes up, that means that prices have gone up, that means there has been __________
3.  If the CPI has gone up 10% over a year, then the inflation rate = _____________  
	For example:  If the CPI was 100 last year and now its 110, we say that the 	inflation rate was 10%.  
4.  That means everything is about 10% more expensive.

D.  Normal Inflation:  An  Inflation rate of ____________________________________ 















IV.  3rd  Characteristic: Economic growth

A.  _________________________________________

When the economy is _____________________________________________________ than it did before. 

B. Economic Indicator:  

_____________________________________________________________________________
How many dollars worth of goods and services were made in America over time.  
	1.  Example:  If America made $1,000 worth of food, $1,000 worth of clothes, and $2,000 worth of houses in a year and nothing else, GDP for the year would be?
	
	____________________________________________________
	2.  U.S. GDP for 2013 was over 16 trillion dollars.  
	3.  Economic Growth

GDP __________________________________________________________________, In other words, we’re making more goods ands services not less
	4.  Recession (A shrinking economy)
	
	GDP __________________________rather than increasing over time.  In other words, we’re making 	fewer goods and services, not more.  
C.  Normal Economic Growth - GDP that _________________ over time, the greater the increase the better.












Measuring the Health of the Economy: 
An Unhealthy Economy: How to recognize one
V. Three types of unhealthy Economies
· 
· 

· 

A. ___________________ – (Also called "____________________") - A “shrinking” economy producing fewer goods and services than before.  

 	- Indicated by:  ______________________________________________________________________

	___________________________________________________________________________________________

B. ___________________________________ - Prices are rising too rapidly

	 - Indicated by: ______________________ inflation rate (>4%)

C.  Stagflation – ________________________________________________________________
Everything is going wrong
- Indicated by
1.  _____________________________________________

2.  _______________________________________ (> 5%) 

3.  _______________________________________ (> 4%)










Name _______________________________________________________________  Hour ____________
Normal Economy Review
Directions:  Use your normal economy notes to answer the following questions.
1.  What are the three characteristics of a normal, healthy economy?
	a.

	b.

	c.

2.  What is full employment?


3.  If the economy is at full employment, what is the unemployment rate?

4.  What is inflation?


5.  What is a normal, healthy inflation rate?

6.  What do we look at to calculate the inflation rate (write out the words, not just the letters)?


7.  What is economic growth?



8.  What does GDP stand for?


9.  How do we know if we have economic growth?


Three types of unhealthy economy
10.  What is a recession?  


11.  How do you know if the economy is in a recession (include both indicators)  



12.  What is high inflation?


13.  How do you know if the economy is experiencing high inflation?


14.  What is stagflation?


15.  How do you know if the economy is experiencing stagflation?

_______ 16.  GDP for the last three years has been 150 billion, 144 billion, and 140 billion respectively (in that order).  Which problem seems to be indicated by this?
A.  Recession	  	B.  High Inflation		C.  Stagflation	D.  The economy seems healthy

______  17.  GDP for the last three years has been 150 billion, 152 billion, and 153 billion respectively.  Which problem seems to be indicated by this?
A.  Recession	  	B.  High Inflation		C.  Stagflation	D.  The economy seems healthy 

______  18.  The inflation rate is 7%.  Which problem seems to be indicated by this?
A.  Recession	  	B.  High Inflation		C.  Stagflation	D.  The economy seems healthy 

______  19.  The CPI is growing at 7% a year.  Which problem seems to be indicated by this?
A.  Recession	  	B.  High Inflation		C.  Stagflation	D.  The economy seems healthy 

______  20.  The Unemployment rate is at 4%.  The Inflation rate is 2 %.  Which problem seems to be indicated by this?
A.  Recession	  	B.  High Inflation		C.  Stagflation	D.  The economy seems healthy 

______  21.  The Unemployment rate is at 3%.  The CPI is growing at 8%.  GDP has grown for the last 4 years.  Which problem seems to be indicated by this?
A.  Recession	  	B.  High Inflation		C.  Stagflation	D.  The economy seems healthy										
______  22.  The inflation rate is 7%.  GDP has been at 180 billion, 181 billion, and 183 billion over the last 3 years respectively.  Which problem seems to be indicated by this?
A.  Recession	  	B.  High Inflation		C.  Stagflation	D.  The economy seems healthy

______  23.  The Unemployment rate is at 12%.  The CPI is growing at 3%.  Which problem seems to be indicated by this?
A.  Recession	  	B.  High Inflation		C.  Stagflation	D.  The economy seems healthy											      
______  24.  The inflation rate is 9%.  GDP over the last 3 years has been 130 billion, 128 billion, and 124 billion respectively.  Unemployment is at 14%.  Which problem seems to be indicated by this?
A.  Recession	  	B.  High Inflation		C.  Stagflation	D.  The economy seems healthy 

______  25.  GDP this year has grown steadily.  Unemployment is at 5%.  The inflation rate is 1%.  Which problem seems to be indicated by this?
A.  Recession	  	B.  High Inflation		C.  Stagflation	D.  The economy seems healthy
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Name _________________________________________________________  Hour _________________
The Business Cycle
· The United States’ GDP is not constant from year to year.
· Instead, the GDP GROWS / SHRINKS in most years and then GROWS / SHRINKS in some years.

· The ups and downs in GDP over time is referred to as the _______________________________
· The business cycle consists of 4 phases:
1.

2.

3.

4.

Draw and fully label the graph of the business cycle (Don’t forget the axes)
	








GDP and the phases of the business cycle
· GDP during recovery
· During the recovery phase GDP is __________________________
· That means we are producing more goods and services than before.
· GDP during a peak
· During the peak phase, GDP has temporarily ____________________________.   
· It is high, but it is no longer increasing
· GDP during a recession
· During the recession phase, GDP is _______________________
· That means that we are producing fewer goods and services than before.  
· GDP during a trough
· During the trough phase, GDP has temporarily _________________________________
· It is low, but it is no longer decreasing

Unemployment, Inflation, and the phases of the business cycle

· Even though the businesses cycle only measures one economic indicator, ________________

· these changes in GDP have predictable effects on the other two key economic indicators as well, the 

________________________________________ and the _____________________________________
Expansion / Recovery and The Unemployment Rate
· During the Expansion / Recovery phase, GDP is ____________________

· To produce more goods and services, businesses need to hire ____________________________

· So the Unemployment rate will be __________________________ during the expansion / recovery phase.

Expansion / Recovery and the Inflation Rate

· Since more people are working, they will be buying _________________ goods and services than before.
· When business owners see more and more people buying their goods and services, what will they do to their 

prices?  _____________________________________
· So the inflation rate (the rate at which prices are rising) will be ___________________during the expansion / recovery phase?
· To sum up, during the expansion / recovery phase of the business cycle, the unemployment rate is 

___________________________ and the inflation rate is _________________________________

Peak and the Unemployment and Interest Rates

· During the Peak phase of the business cycle, GDP is ______________________.
· We are making many goods and services
· And since we need many workers to make them, the unemployment rate will be __________________
· Since many people are working, making money, and buying goods and services, Will business keep their 

prices _____________________

· So the inflation rate will be __________________

· So to sum up, during the peak phase, the unemployment rate is __________ and the Inflation rate is _________

Recession and the Unemployment and Interest Rates
· During the Recession phase of the business cycle, GDP is shrinking.  We are making fewer goods and services
· So the unemployment rate will be _______________________ 
· Since fewer people are working, making money, and buying goods and services, Will business still be able to raise their prices in order to sell things?  _________

· So the inflation rate will be __________________
· So to sum up, during the recession phase, the unemployment is _________________ and the Inflation rate is…

________________________
Final Points on the business cycle

· The various phases of the business cycle last for different amounts of time. 

· In recent history, expansions have lasted years LONGER / SHORTER than have recessions.

· The most notable example of a long recession/trough is ___________________________________________
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Name ________________________________________________________  Hour ______________________
GDP - Gross Domestic Product
I.  Gross Domestic Product (GDP)
A.  Remember the definition of Gross Domestic Product (GDP) 
	1. GDP is how many dollars’ worth of goods and services ___________________________________
	
	2.  Typically over ___________________________________
B.  How big is U.S. GDP compared with other nations of the world? 
			
II. What’s counted as GDP?
A.  Every time we _______________________________ in America in a year, we need to add it to GDP
1.  How do we know how much to add for each item?
2.  We add the dollar amount that the item _________________________  
3.  If we made a coffee table in America last year that sold for $400, then $400 would be added to GDP for last year.
4. If we made an identical coffee table in America this year that sold for $500, the ___________ would be added to GDP this year.
			
B.  However, we have to be careful not to count the same thing twice – _______________________________
1.  For example, let’s pretend that you make and sell knitted clothing for a living. 
2.  You buy some yarn for $5, knit it into a scarf, and sell the scarf for $10.  
3.  If we added $5 to GDP when you bought the yarn and $10 to GDP when someone else bought 

your scarf, the same yarn would ____________________________________________ because the yarn
that you bought for $5 is also in the scarf that your customer bought for $10, giving 

us a false GDP of ________________

4.  	4.  But the same yarn was not made twice, so we cannot count it twice.  Otherwise, It will look like we made more goods and services than we actually did.  
6.  	5.  To avoid this double counting, we only add the price of FINAL goods to GDP, not INTERMEDIATE goods.
			a.)  Final goods – goods that are to be used 	by customers ______________________________.
	
b.)   Intermediate goods – goods that businesses _____________________________________.
   
c.)  In our example, the intermediate good was the __________ that sold for ________.  The

final good was the __________________ which sold for _______________.  So total GDP from

our story should be $___________ 

7.  Can the purchase of something like yarn ever be counted?  ______________
a.)  If I don’t own a knitted clothing business and I buy yarn to use at home for whatever I want, even to knit a scarf for myself or for my family, then it IS / IS NOT considered a final good that SHOULD / SHOULD NOT be counted.  
b.)  Only if I buy the yarn to make something out of to sell as part of my business is the yarn considered an intermediate good that SHOULD / SHOULD NOT be counted.  
   C.  Another way to double count is to count used goods.
1.  For example, let’s say that I bought a brand new video game system this year for $300 and then I sold it to you 6 months later for $250.  
2.  If we counted both purchases toward GDP, the same video game system would count twice and
GDP would be ___________
3.  But since we did not make 2 video game systems this year, we must only count the video game
system when it was sold as new.  
4.  The sale of used goods ARE / ARE NOT counted toward GDP.

D.  Goods and services that are made and sold but are ___________________________ to the government are
also not counted toward GDP.
	1.  For example, if one of my students made me a very cool looking toy Magic Wand which I bought for $5, this WOULD / WOULD NOT count toward GDP, because the sale was never reported to the government.
	2.  Another example would be if one of you baby-sat for the neighbors for $10.  Since the sale of this service would not be reported, it would not count toward GDP
	3.  Another example would be the sale of illegal products since these are obviously not reported.  
   
E.  Finally, if you _________________________________ or do some _______________________________, these goods and services are not counted toward GDP.  
	1.  Even though goods and services are being produced, they also are not reported to the government.
	2.  For example, if you fix your own car rather than paying a repair businesses to do it, it is a service that you provided for yourself, but it is not counted toward GDP
3.  Another example would be if you made wooden furniture yourself for your home.  It would not
count toward GDP.
4.  Question, when you bought the wood to use, was that counted toward GDP? ________________
- Because you are using to wood for yourself at home.  
5.  If you owned a business that made wooden furniture and bought wood to make your furniture out of
and then sold the furniture, then would the sale of the wood count? _____________

F.  So when adding up GDP, we do not count…
1.  ________________________________	- The yarn bought to make a scarf from.

2.  ________________________________ 	- the video game system re-sold

3.  Goods and services that are made and sold but _________________________________________________
-  You babysitting for your neighbor.

4.  Goods and services that you __________________________________-  You paint your own house.  
III.  Counted or Not Counted?
Which of the following are counted or not counted in U.S. GDP and why?
New U.S. manufactured Goodyear tire sold to the General Motors Corporation?
New U.S. manufactured Goodyear tire sold to your father?
Baby-sitting  services provided by my daughter for the neighbor’s kid?
Child-care services from a daycare center in town?
I hire a professional from a home improvement business to paint my house?
I paint my own house?

IV.  Calculating GDP
- Since we add to GDP every time someone buys a new US good or service, who buys US goods and services?

A.  _______________________________________
Consumers like you and me buy US goods and services.  
1.  This kind of purchasing is called _______________________________

2.  Most of GDP comes from consumers buying goods and services.

B.  _______________________________________
Businesses buy goods called capital.
1.  Capital is tools, factories, and equipment used to make other goods and services.  
2.  Since businesses buy these things to grow their businesses, buying capital is called ___________________.

3.  The “g” in (Ig) stands for “_____________________”

4.  Gross means _______________, so Ig means gross or ________________________________

C.  ________________________________________________
The government also buys US-made goods and services.  
1.  For example, the government buys cars for the president and computers for his secretaries
2.  It also buys the goods and services needed to build roads, bridges, and 	countless other things throughout the country.

D.  ________________________________________________
People in other countries also buy US goods and services.  

1.  These are called ________________________________
2.  Exports count toward our GDP so we add them.
3.  However, if we buy imports from other nations, that does not count toward our GDP.  So we have to subtract that out.    
4.  The “n” in (Xn) stands for “__________________.”  In this case, net means “total exports minus total imports.”
5.  So Xn means “net exports” or “___________________________________.”

E.  So if we add up all of the spending done by all of these different groups of people on US made goods and services, we come up with the formula for GDP:

GDP = ______________________________________________

1.  C = Consumption
2.  IG = Gross Private Investment
3.  G = Government Spending
4.  XN= Net Exports 


Name ____________________________________________________________  Hour _________________
GDP – Counted or Not Counted?
Directions:  Write “Y” for yes or “N” for no to indicate which ones are counted and not counted toward GDP.  
1.  A company’s purchase of yarn to use to make clothing to sell.

2.  A farmer’s purchase of a new tractor.

3. A farmer’s purchase of a two-year-old used tractor 

4. A ticket scalper sells concert tickets to you that he already bought.

5. The services of a mechanic in fixing the radiator on his own car at home

6. A man fixing the plumbing in his house.  

7. A laundromat buys new coin operated laundry machines.  

8. The government’s purchase of a new submarine for the Navy 

9. You buy a haircut

10. You buy some tools at a garage sale

11.  Ford Motor Company buys new tires to use in its new cars

12.  You buy a new tire to replace the one on your car.

13.  The purchase of a bootleg DVD movie

14.  You hire someone to build a deck on your home.

15.  You sell your grandfather’s baseball card collection.

16.  You watch the neighbor’s dog while they are on vacation for $10.

17.  You buy lunch at McDonalds

18.  Your grandmother makes you thanksgiving dinner.

19.  You get your car cleaned at the local car wash.

20.  You clean and scrub the house spotless for your mother for mother’s day. 

Name ___________________________________________________________  Hour ___________________
GDP – Is it Counted and How?

Directions:  For each of the following items, write one of the following in the space provided: 
C if the item is counted as consumption spending. 
Ig if the item is counted as investment spending. 
G if the item is counted as government spending. 
Xn if the item is counted as net exports. 
NC if the item is not counted in GDP. 

_________ 1. You spend $7.00 to attend a movie. 

_________ 2. A family buys a new car. 

_________ 3. A family buys a used car.   

_________ 4. You pay a tailor to sew a suit for you. 

_________ 5. The government increases its defense spending by $1,000,000,000. 

_________ 6. You mow your parent’s lawn.   

_________ 7. You swap video games with a friend.   

_________ 8. A carwash buys new water guns.

_________ 9. A homemaker works hard caring for her spouse and two children. 

_________ 10. Ford Motor Co. buys new auto-making robots. 

_________ 11.  Schools in France buy American made computers

_________ 12. Apple Computer Company has a new factory built.

_________ 13. You give your friend some money for his birthday.   

_________ 14. You buy a new car, but it was made in Japan (remember what the D in GDP stands for) 

_________ 15.  A citizen of Japan buys a car made in America.
 
16.  We count the sale price of final goods not intermediate goods in GDP. Why? 
 

17.  When a homeowner does home-improvement work, the value of the labor is not counted in GDP. Why? 

Name _______________________________________________________________  Hour _____________
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Name ______________________________________________________________  Hour ________________
Guided Reading – Unemployment (page 370)
1.  What is the main measure of “joblessness?”  


2.  To calculate the unemployment rate, you need to know the size of the labor force.  What is the labor
Force (I’m asking for the definition, not for a specific number here)?  



3.  To calculate the unemployment rate, you also need to know the number of people who are unemployed.  To count as unemployed, you must have 
	a.  made an effort to find a job during the past ___________________.

	b.  during the last week, worked less than __________________________.

	c.  There is a little more to who counts as unemployed, but we don't need to worry about that.

4.  Once you know the labor force and the number of people who are unemployed, you can calculate the unemployment rate, our measure of joblessness in America.  What is the formula for the unemployment rate?




5.  So if there are 10 people unemployed, and you had a labor force of 100, what would be the unemployment rate?


6.  Skip to page 372.  There are essentially 4 kinds of unemployment.  The first is called Frictional.  What is Frictional Unemployment (use the definition in the margin, not in the text)?





7.  So would you say that frictionally unemployed people are people who choose or do not choose to be unemployed for a little while?



8.  What is Structural Unemployment?




9.  The main change that happens in the economy to cause structural unemployment is technological change, so please add the words, "especially technological change." to your answer to number 8.  



10.  Explain how the development of the automobile caused some structural unemployment.



11.  Our textbook calls "technological unemployment" a separate kind of unemployment, but it is really just structural unemployment, so we will consider them to be the same thing in our class.  So under technological unemployment, how did the rise of automated systems cause structural unemployment for some people?



13.  What is Cyclical Unemployment?




14.  Which phase of the business cycle does the textbook identify as causing this kind of unemployment?


15.  Now that you've answered question number 12, add the words, "specifically, recession." to your definition of cyclical unemployment in your answer to question number 11.  

16.  What is Seasonal Unemployment?  




17.  How do people like carpenters and builders become seasonally unemployed?




18.  Now that you've read about the 4 kinds of unemployment, which kind describes someone who left his job in the corporate world to look for his dream job as a high school economics teacher?


19. Which would describe an unemployed person who works at a ski resort, but it is now summer?


20.  Which would describe someone who is unemployed who used to be great at repairing typewriters?


21.  Which would describe someone who is unemployed because of a recession?


22.  Out of the 4 kinds of unemployment we read about, which one do you think represents the greatest harm to the economy, the worst kind of unemployment for the economy?


23.  If there are 5 people who are unemployed and your labor force is 100 people, what is the unemployment rate

Name ________________________________________________________  Hour _________________
Identifying the Types of Unemployment
Directions:  On each line below, enter F, St, C, or SE as indicated.  

■  Enter F for Frictional  Unemployment  - When people chose to leave their current job to find a better one.  
■  Enter ST for Structural  Unemployment - When people don’t have the skills to get a job anymore, usually because of advances in technology.  
■  Enter C for Cyclical  Unemployment  - The worst kind of unemployment, when people don’t have a job because of a recession.
■  Enter SE for Seasonal Unemployment – When people are unemployed because their job isn’t done at that time of year.  

_____  1. A computer programmer is laid off because of a recession.
_____  2. A literary editor chooses to leave her job in New York to look for a new job in San Francisco.
_____  3. A construction worker is unemployed during the winter.
_____  4. Advances in technology make the assembly-line worker’s job obsolete.
_____  5. A type-writer repairman is unemployed when computers become popular.
_____  6. An individual could take a minimum wage job, but he refuses to work for minimum wage.
_____  7.  A tube TV repairman loses his job because now everyone owns flat screen TVs.
_____  8. Workers are laid off because there is an overall decline in GDP (Remember what a drop in GDP is
   	called).

_____  9. A skilled glass blower becomes unemployed when a new machine does her job faster.
_____  10.  Stars of silent films lose their jobs as movies with sound are first released.  
_____  11.  Booksellers and Barnes and Noble Bookstore lose their job as more people buy eBooks.
_____  12.  A worker chooses to quit his current job  to move to a new town to be with his family.
_____  13.  Snow removal workers lose their jobs because its summer time.
_____  14.  GDP was $14 trillion last year.  Now it is only $13.5 trillion, so some people lose their jobs.
_____  15.  Workers who spray weed killer on lawns lose their jobs during the winter.
_____  16.  A telephone operator’s job is eliminated when the phone company installs new computer-based line 	switching equipment.

_____  17.  Workers at record stores lose their jobs as people are not able to download music.  
_____  18.  A businessman leaves the corporate world behind to try to make it as an artist.  
_____  19.  It’s the great depression, and 1 out of every 4 workers is unemployed.  
_____  20.  A waitress leaves her job in order to pursue an acting career full-time.  

Name ____________________________________________________________  Hour ______________

Calculating the Unemployment Rate

Directions:  Go back to your Guided Reading – Unemployment or refer to page 370 in your book.  

1.  Who counts as part of the labor force?




2.  Who counts as unemployed (skip the "family business stuff")




Directions:  Use these formulas to answer the questions below

	The unemployment rate (UR) – a measure of joblessness.
	The Labor Force – The total number of adults in your nation that are willing to work.

	
[image: ]
	
LF = Employed people + Unemployed people





3.  The labor force is 150 people.  The number of unemployed people is 8.  What is the unemployment rate?



4.  There are 190 employed people and 10 unemployed people.
	a.  What is the labor force?


	b.  What is the unemployment rate?


5.  There are 105 employed people and 4 unemployed people.  What is the unemployment rate?

	

Civilian Employment 1960 to 2000
	Year
	Number of people Employed
	Number of people unemployed
	Calculate the labor force
	Calculate the unemployment rate

	1960
	66
	4
	
	

	1970
	79
	4
	
	

	1980
	99
	8
	
	

	1990
	117
	7
	
	

	2000
	135
	6
	
	



6.  If a bunch of 15 year olds lose their jobs, it does not increase the unemployment rate.  Why?
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Name ______________________________________________________  Hour ___________________
Guided Reading Module 13 - Economic Instability

1.  What is the "Economic Myth" at the beginning of this reading?



2.  Look back to the first PowerPoint we did in this unit called, " Measuring the Health of the Economy…Normal Economy Notes."  Using that as a resource to define the following terms:
a.  Inflation:


b.  The Inflation Rate:


c.  Low (Normal) inflation:


d.  What is the index we use to calculate the inflation rate?


3.  Back to the text.  What is hyperinflation?




4.  Make a bullet point list to describe what life was like in Germany in 1922 to 1923 when they experienced hyperinflation

· 

· 

· 

5.  Fill in the blanks:  "Most inflation, however, is ______________________ and moderate inflation produces 

both _____________________________________________________________.

6.  Fill in the blanks:  "Although price increases hurt _________________, they help ___________________.

7.  How did inflation help Peter's family when they bought and sold their house?







Inflation winners

8.  Circle the correct words:  Inflation HELPS / HURTS people who are in debt because the money that they pay back will buy MORE GOODS / FEWER GOODS than the money that they borrowed.

9.  Since governments also borrow a lot of money, inflation often HELPS / HURTS them.

Inflation losers
10.  A fixed income is an income that does not change over time.  For example, if a person makes $50,000 a year and that never changes, he has a fixed income.  Inflation HELPS / HURTS people with fixed incomes because their incomes DO / DO NOT go up as prices go up, so they can afford MORE / FEWER goods over time.

11.  Let's say you are thinking of buying a new car, but you decide to save your money and buy the car next year.  But next year, there has been inflation, and now the car will cost you twice as much to buy.  In this case, inflation HELPED / HURT you.  So generally, inflation HELPS / HURTS savers (people who save their money instead of spending it).  

12.  Inflation HELPS / HURTS people who loan other people money because the money that they get back can buy MORE GOODS / FEWER GOODS than the money they borrowed.  

The Causes of Inflation
13.  Read the text or just think about it and circle the correct word:  The main cause of inflation is probably the government producing TOO MUCH / TOO LITTLE money.   




























Name __________________________________________________________________  Hour ________________
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Name _____________________________________________________________  Hour ______________
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GDP in Trillions - 3 Quarters of Growth - 3 Quarters of Shrinking	Last Year	1st Qtr	2nd Qtr	3rd Qtr	4th Qtr	5th Qtr	6th Qtr	7	8	10	14	13	10	7	



Unemplyment Rate (6 months normal - 6 months high)	Jan-Feb	Mar-Apr	May-June	July-Aug	Sept-Oct	Nov-Dec	0.04	0.05	0.03	7.0000000000000007E-2	0.1	0.18	



Inflation Rate (6 months normal - 6 months high)	Jan-Feb	Mar-Apr	May-June	July-Aug	Sept-Oct	Nov.-Dec.	0.04	0.02	0.03	0.06	0.08	0.18	
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